A & 0o & At S 8 Hl A

A ZAIEE 2

MM 2ANO| BEN 2

cHRl DM ZPAL LHAISE 2 (B2 &R
SN R SR(B) - MSAY - BES 0l &t pJE-L HIREY

ZAgE2 160,763 198,729 A37,966

ZAS EEXE 29 101,084 106,110 25,026

NHZAF LHAS 2 23,873 25,130 A1,257

KX 2 A &L A 23,873 25,130 A1,257

201 2et23H| 1,400 1,500 A100

01 AtR2t2idl 1,400 1,500 A100

O olar 22 2% 1,400,000& - J1& 1,500,000& 2100 0 2100

202 04dl 19,473 20,630 A1,157

01 =LHAOYI 19,473 20,630 A1,157

O ol 22 23 19,473,000& - J|& 20,630,000& A1,157 0 AT1,157

PHHEZ 2 HFs SHI|Y EHE 18,995 19,700 AT05

HEWH =& 18,995 19,700 AT05

202 04dl 10,995 11,700 AT05

01 =LHAYI 10,995 11,700 AT705

O olar 22 23 10,995,000& - J|& 11,700,000 AT705 0 AT705

SAEE JIs2ZE 235 58,216 61,280 A3,064

TR SANEE JISHE AAl 58,216 61,280 A3,064

201 2BH23H| 20,600 21,200 A600

01 AtR&2H 20,600 21,200 2600

O olat 22 23 20,600,000& - J1& 21,200,000& 2600 0 2600

405 KHAHFESHI 27,536 30,000 A2,464

01 TRIEESFHSHI 27,536 30,000 A2,464

O olar 22 Z2& 27,536,000& - J1& 30,000,000& N2,464 0 A2,464

HAE2I I (ZAEE2 59,679 92,619 A32,940

el 2| 18,037 43,777 A25,740

el A 18,037 43,777 A25,740
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